SAFE-HIT

GlareScreen SYSTEM - U-CHANNEL MOUNTED
Placement Instructions
(DROP-IN ANCHORYS)

The following instructions are meant to familiarize workers with the proper installation procedures of Safe-Hit
GlareScreen U-Channel Mounted Systems.

Worker safety and the use and proper handling of tools and equipment are paramount and should be followed
at all times. The use of personal protection devices such as eye and hearing protection is recommended at all
times.

Modification of the design or any components of the Safe-Hit GlareScreen System could reduce the product
performance, void the warranty, and may create liability exposure for the installation or use agency.

The GlareScreen U-channel mount kit is designed so that the cups and blades can be assembled on the U-chan-
nel off-site, then the completed rail assembly can be transported to the site and installed on the concrete barrier
using two anchor bolts, for the 10 ft. and 12 ft. sections and three anchor bolts for the 20 ft. sections.

The Safe-Hit GlareScreen U-Channel Mounted System is packaged in convenient kits of 100 or 120 linear feet,
depending on the length of the barrier wall sections; 10, 12, or 20 foot long CMB sections.

Parts kits:
(Customer is to supply either 10’, 12’ or 20’ U-Channel, @3/8” X 1” Perforated, #2, Galvanized)

100 Ft. Kit 120 Ft. Kit Component Description
10’ U-Channel 20’ U-Channel 12’ U-Channel
50 60 GlareScreen base
50 60 GlareScreen blade

Hardware Sets:

Cup to Rail
50 60 5/16” X 2-3/4” hex bolt
100 120 5/16” lock washer
150 180 5/16” X 11/16” flat washer
100 100 5/16” hex nut
50 60 5/16” X 1” hex bolt
50 60 3/8” X 2” flat washer

Rail to Concrete Barrier

20 30 20 3/8” Drop-In anchor
20 30 20 3/8”X 2-1/2” hex bolt
20 30 20 3/8” X 13/16” flat washer
20 30 20 3/8” lock washer

Tools Required:

Anchor Setting Tool (Hilti) Permanent Marker
1/2” Carbide Tipped Concrete Drill Bit Compressed Air or Blowout Bulb
Rotary Hammer Drill with Depth Gauge Roll Pin Pilot Punch (1/4”)
Hammer (2 Y2 1b.) Tape Measure
Torque Wrench 9/16” Socket

2" Socket

—_— VALTl R Part No. 611296 | Revision C, January 2023

10f3 © 2023 Valtir, LLC



SAFE-HIT

ASSEMBLY & PLACEMENT PROCEDURE

PREASSEMBLY

—_

Place a mark on the U-Channel 12” from the end and at 24” intervals thereafter.

2. Install a cup at each mark using one 5/16” X 1” hex bolt, one 3/8” X 2” flat washer, one 5/16” X 11/16” flat washer, one
5/16” lock washer and one 5/16” hex nut. Do not tighten the bolt yet.

3. Rotate the cup so that the 5/16” hole lines up with the hole in the U-Channel and install one 5/16” X 2-3/4” hex bolt, one

5/16” X 11/16” flat washer, one 5/16” lock washer and one 5/16” hex nut.

Tighten both the center cup bolt and the edge cup bolt.

5. Place a plastic GlareScreen blade in the cup and drive the two roll pins to secure it in place.

&

SITE INSTALLATION

—_

Position the completed U-Channel rail assembly centered on the top of the barrier wall.

2. If using 10 ft rail, mark a spot on the barrier wall 32” from each end of the rail.

If using 12 ft rail, mark a spot on the barrier wall 40” from each end of the rail.

If using 20 ft rail, mark a spot on the barrier wall 40” from each end of the rail and one in the center of the rail at 120”
from the end of the rail.

Drill holes 1-11/16” deep in the concrete barrier wall at the marked locations.

Blow out the holes and clean off the top of the barrier wall.

Place a drop-in anchor in each hole and install it with the Hilti anchor setting tool.

Secure the U-Channel rail assembly to the barrier wall by placing the bolts complete with lock washers and flat washers
through the U-Channel and threading into the anchor. Tighten the bolt to 35 foot pounds torque.

o usW

TRAFFIC

[ P g 1 Pz e i 2

I i Blade spacing

\ oo o

Anchor spacing
TRAFFIC

TRAFFIC

]
le 24" ol 24" ol 24" ol 24" { % 24" % 12" Blade spacing

e & —L =S = Anchor spacing

TRAFFIC-

- TRAFFIC

[ - Blade spacing

80" 80" 40" .
—— Anchor spacing

TRAFFIC: -

20 Ft

—_— VALT' R Part No. 611296 | Revision C, January 2023

20f3 © 2023 Valtir, LLC



<l <
v
<
v <
1 €49 € &2
D@D &9 & (I
D ED & @D €
~—
'NOILD3S TINNVHOI-N 14 02 404 d3HIND3Y € ALO«
«C d'8/€'NI-dOYA"JOHONY | dZVH---HSOHS| I
C QY¥H'd'd0o 9L/ELX Al 8/€°LYT4'YIHSYM|  0010-2208022] €I
«C d'8/e' MO0 T d3IHSYM|  00L0-1+08022| 2L
«C 9'29'7/L Zxg/e’XH L10a|  0000-L0€L022| LI
L d'ZOv/L LX9L/S'XH 170G  00L0-16€L022| Ol
z d'9L/S'XH'LNN|  00L0-180¥0.Z| 6
) d'9L/LL X 9L/ LVI4'YIHSYM|  00L0-LEL80Lz| 8
z d'9L/S' MO0 HIHSYM|  0010-L218022| £
l d'2O'v/E TX9L/IS'XH L7108  0010-,028692| 9
) d'ZX8/€ LV14'd3aHSYM|  0010-L€08022| G
L SNId QIZINVATVO/M ‘3Svd| 1978-1-9SOHS| +
L NIFHO P2 NIFHOS I¥v19'Iavid| 9—¥2-dSOHS| ¢
L (SYTHLO A9 AAINddNS) AIZINVATYD L 0L ‘Z# TANNYHO-N z
l (S¥3IHLO Ag A311ddNS) 14 0L'dND L
‘ALD NOILdI¥OS3A 'ONMOOLS | Wadl
1817 S1¥vd

Part No. 611296 | Revision C, January 2023

VALTIR

© 2023 Valtir, LLC

30of3




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


